MBIRE 2 LS BITER

-1 -

(2022 )
ME&AFR NESHXPARS O
VNI = LEmmIRNE
] HETINTX DERRER SR X DRSS T
= 11y
FTREE SEEE SERITE | oE |PUTER Br
FERSEE 30505500.00 18011500.00 8,099,816 | 10 44.98% 4.5
Iﬁ(aj_;ﬁ)g Hoh : BFBURTR 30505500 18011500 8099816 —
RS 0 0 —
Hihxe 0 0 —
FrHA B4R SCRRSeRiiER
SERETIREWEAE, BREIRE13. VzhER
FE[1H. EENEIRIE. HINBE2M, MEKITMER
SN100% , IRE—IRMIRIEIEER100% , IREWELR HstEeh , WBESEH X PARS P OFEK
ENERIN AT, RS, BEERER100% |, HBEEA ek, BIEDARE., (SENWEMBESEET
ETFMEAAHRTANEE , BENESHEHXBPER 20234
ShOFR RS RY |, FEEENSNE. 8
KN EIRHIE. AEETEHE. RSHPEANETSE
- — e - FE SCRR san | RERRSHR
HZiEEm , hE
=X BPERS S
_ Ui, &
R E IR =418 3808 |10 8 ey A 1=
(W EMBEEET
20234
HEEEm , hE
=X BERS S
_ OFiEARSTH  ©
R - TS 4 mnaxA e
(W EIMB &R T
20234
HEIBIR
MBI B =14 0 0] 0
RZiEEm , hE
=it X PERSEH
_ USRS, &
= =% 0 S| 3 lEpakeE. me
(VEIMB &R T
20234
=2If 0 0 0
eI RftIIE
ii E % ;E’h_‘ iﬁ%_;’/\m&gﬁqﬁéﬁﬁ - 1 00% 1 00% 1 O 1 0




=
=]

IR

RIRUER

THzeRER

=100%

50%

E&E#m , L8
S X BPARRS S
OFTERTR &
;ﬁjj Z/RE {I:Iu
(L EIMB &R T
20234

i

REMEREEINIRA

S40)

RBS

PSSR

BEMHERER

=100%

10

EEESm , LB
=X BAERS S
OsrEsRseR . &)
IEDARE., 8
WS &R T
20234

REn et

LRSI

REEAETRM

BT AR 5%
%

ARIAZIFRIL A

30

25

EEEFm , LB
X PERS T
UFrEARTSh . B
EDARE. B8
WS E SRR T
20234

ISR =t

RSMRHBEEIR

ERHSE

>=95%

95%

10

R , L8
~¥iEE$HE%EF'
UFrEEsRsem . &)
EDARE. BE)
(EIMB &R T

20234

100

76.5




MR LSS BITR

(2022 £E)
REEH S
— TETAIRNE
> NS == .
T LRHINTR DERRER i R DAIRET
= 1)
EyRE | ammEs | emTs | E x| e
S 50000.00 50000.00 2,956.8 10 15.92% 0.59
Iﬁ(aj_zﬁ)é Hep : JFBEER 50000 50000 —
s 0 0 _
Hihxse 0 050000 2956.80 —
e TR
R B S ER e L FEs e
g EEBTOREIEAT, BBSARR. SANST
o B TR RIS AT, ELIF B AR RS
e L e
B i pss | emit K RS RREE. 20 RIERREAR D A= BT
S SRRSO IR , BEEE AR RIS e |
00 AR, SHTERA RBRREI0% , AR
o R 00% | SRR 00%
- — — R T FEREATR
—Risks —RiskR —=misks > AN Vi=PAN
RE == =100% 20% 10 4 EEEREEN
Bt
ERE AR =90 AR 30 AR 10 6 EEERER D
Taganti={on =R >=95% 98% 10 10
ERist
T =100% 100% 10 10
%
5
B KL TEA=) T - o <
KRS =100% 100% 10 10
AN
kit U e | 10 | 10




Bl StN EEEMAEE | =100% 100 10 | 10
WEEER RSBIFHRETER T >=95% 98% 10 | 10
RRIME =
=t 100 | 80.59




MR LSS BITR

(2022 )
IE&FR REBEHIESRFE
NN = EEmmIRNAS
] LRDIIIE DERERER BT i X DRSS
= /[L\
FHITNEE SENEE | 2FHITE | 9E [BUTER 55
(FEREEE 930000.00 590000.00 295,000 10 [50.00% 5
Iﬁ(aj_ﬁ@ Heh : BFBIRR 930000 590000 295000 —
TEEERS 0 0 —
Hittxe 0 0 _
TEAE R SCRRSERIE

FE

RATEAN , MOMERREMHEERE , SHTHRRE
FACEEE HTRE. RE. HERIEERA. BTiR
EHHSHEIPRS | RBRAOREBEFIERET , NEREST

[ ECEIRET  RISPIRESIERE 2L HE BT AR EIERE , T
M NSRS | 2R AREOASE , AL s
SEEHRIDASO%LLE | BEEFIARAEEAT
65% R IRETEIE . EEEHE. GE
e, .
— R — gt =igin e | 2 | pi| ey |REEEDIR
HEIBR B <=2% 2% 15 15
RIS sy | |EERIEE | eEREE | 15 | 15
PeLtIEH
A ey | <2208 | (240 | 10 | 10
= R MSBERREREER | postigs | geests | 10 | 10
X,
5 IR
i
IR NV »=95% | yo9s% |10 | 10
MESE | NG — s=95% | 9s% |10 | 10

-5-




WEEER RSYSERERR | — >=95% Y 95% 10 | 10
REFRAZHRE
B2 100 95




MR LSS BITR

(2022 )
IMB&R MZ ==l
N s = EEHIRAE
] LRTHHTE DERRER BT i K AR S
= 1y
FHTEH SEMEL | 2EHITE | £1E |PITR 5o
A A 100000.00 100000.00 | 73,455 | 10 [73.46% 7.35
Iﬁ(aj_f)@ Heh  MEMBIRER 100000 0 —
TSRS 0 0 —
Hitrae 0 0100000 | 73455 | —
FHAE R SCFRTERkIE R
I ES \RRSIRRAEL, ADEL FE. ERY
TSN ™ r ‘/El ,ﬁ X s ) o E—EE A'E‘élié?-'r 25327 . R N
A A b B BB . RIRIRRE , A LSRR
B ARHEEZR100% , EfFEE20%
_ _ _ _ - FE SChR RERRERDHTR
A= = — Z\ PI=VAN
emusrrs | 1R 2% | 10| 8 | mEEEmmW
HEtetR
R >=500A% | 20000 | 10 | 8 | mEEEsm
FEHtER
RIS O >=98% | ) =98% | 20 | 20
%
By
8 PRSI e =98% =98%
= et e >=98% | ) =98% | 10 | 10
O =100% | =100% | 10 | 10
=] 3 Ema
HEstatn B ETIEIR
T Iz Iz 5 5
TREEIEE | g g | Z100% | 9% | 5| 4 | mwmEmm




| B

RS ISR SR 1) ISR | =100% | =100% | 10 | 10

B9 100 | 92.35




MR LSS BITR

(2022 )

RE &R RS B RS S
NI _ FETIR =
e8] LiEHInIE DERRER ST R DRSS T
pay ll::\
EREY | camEy| amthi | HE e EIN
FEREEDE 136000.00 136000.00| 68,000 10 |50.00% 5
Iﬁ(aj_;ﬁ)@ Hoh : BFBIRR 136000 136000 68000 —
R 0 0 _
Hftas 0 9 _
B SRR
A REERRRER PN ER AAR AR |
[ RAEESS TINE RS, TR, RORG. e
I B RS asT | KRR
o IRUTEIFNE TR RIS , PR RRAEA 2
B eatemty | QARG | RN EEE e "
SRR | MR AR  ENEREAT0% RERESEN ASSOAARR T
N R R SR P O S S R TR e T R R =
bisT  (RERAERE , Wi KR RS E T
SRS | R R R ERETE., Eaten
b7 | IEIARE AT | R E , S
s R BIRE , NBFIEAT 0% . AORAERRIR
EROREIEREST , fOF 7 E SR,
= == VAN
— et — st =ity ;c‘a%;a o | s | @ ﬁﬁfgg &
HEISiR s =100% 100% 10 10
EEiE e a5 am | 10| 10
Pt s | Reg 1 10110
B
w2 REg | 10110
§ FeRIRBER
g B, TS
& BASR L =100% 50% 10 5 | REFRIGHE
4
=g >=98% 98% 10 10




XEnfEin RSN G SRR PR PEAEE 10 | 10
=} /
—QEo, 9
e AR >=95% 98% 10 10
WEEER|  RSNRHREERER AR >=95% 98% 10 | 10
B 100 | 90

-10 -




IR B 3z BB iTEE
(2022 )
IE&R REWE
N s = LEmmIRNE
] EEPINTIX PERRER SR X DRSS
= 11y
FTAEE SEMEL | 2FEHITE | 9E |BUT=R B
(FREAS S 3750900.00 3293900.00| 2,810,850 | 10 [85.34% 8.53
Im(aj_ﬁg Hep : BEMBUAK 1602000 3293900 | 2810850 | —
RS 0 0 —
Hittxe 0 0 _
FHA B4R SCRRSERIER
FERFEREMRISHER100% |, 18— R ISR E1E=R1
BYR00% , IREMWELEZNINAT, REEH, B R
B#R[100% , FERESNE | BARRERIAZI90% I H E 52
, EREHEEILE0%, FEEAETIIEANHKT
EREE,
e e — ot FE ISHiny . RERR DR
HEIER BEnENE =25& 2348 10 9 BREBZH T
REEHR REF—RMRKAEEE | =100% 100% 10 | 10
faluati=(7 IREWELEEEII AT Rt R 10 | 10
Ests t
%%
2 .
g RS =100% 95% 10 9 BIRERT
1R e
FAIEER T =100% 85.34% | 10 9 BREZT
Y Gngi=( HEMESIEIR EREE Y 90% »90% | 30 | 30
(g ) 95% 95% 5 5
HEEER| RENSEERESR

-11 -




100

95.53

-12 -




MR LSS BITR

(2022 )

IE&R KR8 E
NN = EEHmIRAE
] LEPINTIX PERRER SEpEEaf X DRSS T
= 11y
FHITNEE SEMEL | 2FERITEH| 2E |BUTER Bn
FRER S SEN 1379000.00 1086400.00( 1,030,380 | 10 [94.85% 9.48
Iﬁ(aj_;ﬁ)@ Heb : BEBUAK 1379000 1086400 | 1030380 | —
RS 0 0 —
Hitxe 0 0 _
cx FHAE R SCRRSERiIER
B REAREEUNRNSERBTERE B A RN ITFIRE
BERERARKSEITIRS | IR AR DA O R AREE ERET T2 TR
I2i88E] | RIER24/\E3FEA.
_ _ _ _ _ FE SN , RERESHTR
— b/\ _g lfl/\ _2 b/\ — 5 545 \
HEISIR RRNCIRBWEBHE | =128 124 10 | 10
e | 100 | 100% | 10} 10
[REEIR
Fgis BE—REEKEEER | =100% 100% 10 | 10
%R
N at ZAET| [R5 K2 B
=]
= i
B AER IR =100% 94.84% | 10 9 KWERETHY
EtErR HEWESIEIR e b= =1 30 | 28 |EATLAEIFHEES
o AR >=95% 95% 5 5
WREER] REMNEHEEIER

-13 -




100 | 96.48

|
e

-14 -



